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Note: First question (8 marks) is compulsory. Answer six questions from the rest. (6x7=42)

1. Define isomorphism between two graphs. Find whether the following two graphs are isomorphic or not.

2. State Hand shaking property. Prove that in every graph the number of vertices of odd degree is even.
3. Discuss Konigsberg bridge problem with a decent sketch of diagrams.

4. Define Euler’s Trail and Euler’s circuit. Give an example each for the graph.
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Note: First question (8 marks) is compulsory. Answer six questions from the rest. (6x7=42)

1. Define isomorphism between two graphs. Find whether the following two graphs are isomorphic or not.
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2. State Hand shaking property. Prove that in every graph the number of vertices of odd degree is even.
3. Discuss Konigsberg bridge problem with a decent sketch of diagrams.

4. Define Euler’s Trail and Euler’s circuit. Give an example each for the graph.



5.Prove that a k-dimensional hypercube Qy has k(2*') edges. Find the number of edges in Qg. What is the
dimension of the hypercube with 524288 edges?

6.Define a subgraph, a spanning subgraph, and an induced subgraph.

7.Define a bipartite graph, a complete bipartite graph. Give an example of a graph which is bipartite
but not complete bipartite graph. Distinguish between a complete graph and a complete bipartite

graph. 'y

8. Define a path. Find all the paths from A to R. Find their lengths.

P & R
9.Define degree of a vertex in a graph. Find the degree of each vertex in the graph and verify hand
shaking property.
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8. Define a path. Find all the paths from A to R. Find their lengths. /

3 & R

9.Define degree of a vertex in a graph. Find the degree of each vertex in the graph and verify hand
shaking property.
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